

➤ Simplify:

1. $\sqrt{9} = \underline{3}$	2. $\sqrt{25} = \underline{5}$	3. $\sqrt{81} = \underline{9}$	4. $\sqrt{121} = \underline{11}$
-------------------------------	--------------------------------	--------------------------------	----------------------------------

If a number is a perfect square, simplify it.  
 If not, leave the number in radical form (do not change into a decimal).

$$x^2 + 3x + 1$$

$$x^2 + 3x - 4 = 0$$

There are many methods that can be used to solve a quadratic equation:

$$(x+4)(x-1) = 0$$

$$x = -4 \quad x = 1$$

- 1) Graphing the related parabola → look for x-intercepts
- 2) Solve by Factoring → equation must be equal to 0
- 3) Square Root Property: If  $x^2 = a$ , then  $x = \pm\sqrt{a}$
- 4) Completing the Square → works best when  $a = 1$  and  $b$  is an even number
- 5) **QUADRATIC FORMULA**

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

❖ Quadratic Equation:  $ax^2 + bx + c = 0$

❖ Practice evaluating  $b^2 - 4ac$  and  $2a$

<p>1. <math>2x^2 + 3x - 5 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>(3)^2 - 4(2)(-5) = 49</math>  <math>\frac{-(3) \pm \sqrt{49}}{4} = \frac{-3 \pm 7}{4}</math></p> <p><math>2a</math>: <math>2(2) = 4</math>   <math>\frac{-3+7}{4}</math>   <math>\frac{-3-7}{4}</math></p> <p><i>Handwritten notes:</i>  <math>x^2 + 3x - 10 = (x+5)(x-2)</math>  <math>2x = -5 \quad x = -5/2</math>  <math>x = 1, -5/2</math></p>	<p>2. <math>x^2 + 4x + 1 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>-2 \pm \sqrt{3}</math></p> <p><math>2a</math>:</p>	<p>3. <math>3x^2 - 2x + 3 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>\frac{1 \pm 2i\sqrt{2}}{3}</math></p> <p><math>2a</math>:</p>
<p>4. <math>x^2 - 6x - 2 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>3 \pm \sqrt{11}</math></p> <p><math>2a</math>:</p>	<p>5. <math>-4x^2 + x + 5 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>\frac{-1+9}{-8} = \frac{8}{-8} = -1</math>  <math>\frac{-1-9}{-8} = \frac{-10}{-8} = \frac{5}{4}</math></p> <p><math>2a</math>:</p>	<p>6. <math>-x^2 + 2x + 6 = 0</math></p> <p><math>b^2 - 4ac</math>:  <math>\frac{-1 \pm \sqrt{7}}{-1}</math></p> <p><math>2a</math>:</p>

pg 7 # 2:  $x^2 + 4x + 1 = 0$   $\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$

$A=1$   $B=4$   $C=1$

$$\frac{-(-4) \pm \sqrt{(-4)^2 - 4(1)(1)}}{2(1)} = \frac{-4 \pm \sqrt{12}}{2}$$

$$\frac{-4 \pm 2\sqrt{3}}{2}$$

$$= -2 \pm \sqrt{3}$$

$-2 + \sqrt{3}$

$-2 - \sqrt{3}$

$-3.732$

$$\begin{array}{r} 2 \overline{) 2} \\ 2 \overline{) 6} \\ \underline{3} \end{array}$$

pg 7 # 3:  $3x^2 - 2x + 3$   $\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$

$A=3$   $B=-2$   $C=3$

$$\frac{-(-2) \pm \sqrt{(-2)^2 - 4(3)(3)}}{2(3)} = \frac{2 \pm \sqrt{-32}}{6}$$

$\sqrt{-32}$   
 $i$

$$2 \overline{) 32}$$

$$4i\sqrt{2}$$

$$\frac{2 \pm 4i\sqrt{2}}{6}$$

$$\begin{array}{r} 2 \overline{) 6} \\ 2 \overline{) 8} \\ \underline{4} \\ 2 \overline{) 4} \\ \underline{2} \end{array}$$

$$= \frac{1 \pm 2i\sqrt{2}}{3}$$

pg 7 # 4:  $x^2 - 6x - 2$   $\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$   $\frac{-(-6) \pm \sqrt{(-6)^2 - 4(1)(-2)}}{2(1)}$

$A=1$   $B=-6$   $C=-2$

$$\frac{6 \pm \sqrt{44}}{2}$$

$$11 \overline{) 44} = 2\sqrt{11}$$

$$\frac{6 \pm 2\sqrt{11}}{2}$$

$$3 \pm \sqrt{11}$$

pg 7 #5:  $-4x^2 + x + 5$   
 $A = -4 \quad B = 1 \quad C = 5$

$$\frac{-(-1) \pm \sqrt{(-1)^2 - 4(-4)(5)}}{2(-4)}$$

$$\frac{-1 \pm \sqrt{81}}{-8}$$

$$\frac{-1 \pm 9}{-8}$$

$$\frac{-1+9}{-8} = 1$$

$$\frac{-1-9}{-8} = -5/4$$

$$-4x^2 + x + 5$$

$$x^2 + x - 20$$

$$(x+5)(x-4)$$

$$(4x+5)(x-1)$$

$$4x = -5 \quad x = 1$$

$$x = -5/4$$

pg. 7 #6:  $-x^2 + 2x + 6$   
 $A = -1 \quad B = 2 \quad C = 6$

$$\frac{-(2) \pm \sqrt{(2)^2 - 4(-1)(6)}}{2(-1)}$$

$$= \frac{-2 \pm \sqrt{28}}{-2}$$

$$\begin{array}{r} 2 \overline{) 28} \\ \underline{14} \phantom{0} \\ 14 \phantom{0} \\ \underline{14} \phantom{0} \\ 0 \phantom{0} \end{array}$$

$$\frac{-2 \pm 2\sqrt{7}}{-2} = \frac{-1 \pm \sqrt{7}}{-1}$$

pg. 8 #1  $2x^2 - x - 6$   
 $A = 2 \quad B = -1 \quad C = -6$

$$\frac{-(-1) \pm \sqrt{(-1)^2 - 4(2)(-6)}}{2(2)} = \frac{1 \pm \sqrt{49}}{4} = \frac{1 \pm 7}{4}$$

$$\frac{1+7}{4} = 2$$

$$\frac{1-7}{4} = -3/2$$